(FLecR) 24/09/01

AN Rev 01

INJECTOR SIZE NOZZLE THROAT
24199-0 0 10913-0 10914-0
24199-1 1 10913-1 10914-0
24199-2 2 10913-2 10914-0
24199-3 3 10913-3 10914-0
ITEM |QTY|PART NO.| DESCRIPTION NOM
1 | 1| 10227 |INJECTOR SCREEN FILTRE INJECTEUR
2 | 1| 10229 |GASKETINJECTOR BODY JOINT
3 | 1| 10328 |3/8"x1/4"x 90° ELBOW COUDE 90° - 3/8" x 1/4"
4 | 1 | 10329 |3/8"NUT ECROU 3/8"
5 | 1 | 10330 |SLEEVE (3/8" TUBE) OLIVE
6 | 1 | 10332 |3/8"INSERT INSERT 3/8"
7 | 1 [10913-XX|INJECTOR NOZZLE (SPECIFY SIZE) |BUSE INJECTEUR (SPECIFIER N°)
8 | 1 |10914-XX|INJECTOR THROAT (SPECIFY SIZE) |GORGE D'INJECTEUR (SPECIFIER N°)
9 | 1| 11893 |INJECTOR COVER COUVERCLE INJECTEUR
10 | 1 | 17776 |INJECTOR BODY 1600 CORPS INJECTEUR 1600
11 | 1 | 23304 |GASKETINJECTOR BODY JOINT PLAT COUVERCLE INJECTEUR
12 | 2 | 23476 |SCREW VIS

INJECTOR ASSY, 1600, 2510/2750/2900, SPECIFY SIZE 24199

CHAP. 13





